Vehicle frame

Installation Instructions

X

=
@
=]

NG
SE> S

Hitch Shown In Proper Position

Equipment Required:
Fastener Kit: 38208F

Bolt-on 25K Super Titan

Designed for “C” channel style frames approximately 34”-34 12> wide.
Note; this hitch is heavy and will require more than one person, a lifting device or both.

Part Numbers:
38208

Do Not Exceed Lower of Towing Vehicle Manufacturer’s Rating or

Vehicle frame

Drill bits: 1/4”, 1/2”,25/32”
Wrenches: 1-1/8” wrench & sockets.
Other Tools: Tape Measure, Layout tools,

All fasteners typical,
both sides of vehicle.

Center Punch, Hammer, small & large Drill Motor,
Torque Wrench capable of 325 ft-1b., (440 N*M)

Figure A.

Rear view of Frame showing proper installation

Supplied Spacer Plate
@ (if needed) ——

Supplied Bolt, Washers,
Nut, typical

A
@ Supplied é

Spacer Tubes

Spacer Tube not

Vehicle frame —__
designed to rest on
bottom frame flange.

A
Hitch bracketnot | Hitch / N

designed to clamp frame. Bracket

. Max Gross Max Tongue
Hitch type Trailer Weight Weight
Drawbar either top or . .
Weight C
bottom opening. Bl Moy 25,000 Lb. (11340 Kg) 4000 Lb. (1814.4 Kg)
Turn over for 2” Ball

Spacer Tubes
AV g ©)

Spacer Plates
(as needed)

@ Qty. (1) Hitch Qty. (8) | 3/4” Gr. 5 hex Nut

@ Qty. (4) Spacer Tube Qty. (1) Drawbar

@ Qty. (2) Spacer Plates, (use as needed) Qty. (1) Drawbar Pin with lanyard

@ Qty. (8) 3/4”-16 X 6” Gr. 8 hex hd. Bolt @ Qty. (1) | PinClip

@ Qty. (16) 3/4” Conical toothed Washer Another fine Cequent Performance Products Hitch

Determine if width and height of vehicle frame is adequate for this hitch. Measure inside surfaces of “C” channel vehicle frame width and

height and compare that to overall outside hitch with spacer tubes width and height. Keep in mind that supplied hitch spacer plates can be

removed to achieve minimum width.

N

Determine location of hitch within frame before drilling holes. Keep in mind installed drawbar to check vehicle, trailer and ground

clearances. After determining that hitch location is adequate then layout holes on outside of vehicle frame, see Figure A. above. Carefully
match hole spacing of layout holes on frame to dimensions between holes on hitch brackets. Center punch location of holes on vehicle frame

so that they are drilled accurately.

Drill all center-punched locations using 1/4” drill bit. Then proceed with 1/2” bit and then finally 25/32”. Remove any burrs from around

drilled holes. As shown in Figure B. above insert bolts with washers from outside of frame into place. Install spacer tubes over bolts as
shown. If spacer plates are needed then install these over bolts against tubes. Pull all bolts back slightly so that you can raise hitch into
position and then push bolts back through holes in hitch brackets as shown in Figure B.

Install washers and nuts onto bolts and then holding hitch up level torque all fasteners to specifications below.

Tighten all 3/4”-16 Grade 8 fasteners with torque wrench to 325 Lb. -Ft. (440 N*M)




Cadre du véhicule Instructions d’installation Numéro de piéce :

< 25K Super Titan (a boulonner) 38208

Concu pour les cadres a profilés en C d’une largeur de 34”-34 %5 environ.
Remarque : Cet attelage est lourd et exige plus d’une personne, un dispositif de

= levage ou les deux.
& /
\ - Ne pas dépasser les spécifications de poids du fabricant du véhicule, ni :
-]
\ = :-.-.—.: Type d’attelage Poids rtérnl'llt)?cll?])é dela Poids max. au timon
- <  Barred "
Attelage montré dans la position arre de remorquage Capacité de charge
; 8 appropriée L ouverture en haut ou en Montage sur boule 25000 1b (11 340 kg) 40001b (1814,4 kg)
&lﬂl@&l}_ bas. Renverser pour
Visserie : 38208F boule de 2” Cadre du véhicul Tubes espaceurs @
Meéches : 1/4”, 1/2”,25/32” acte Quvemede
Clés : Clé 1-1/8” et douilles. Visserie similaire des

Plaques d’espacement

Autres outils : Ruban, gabarits, poingon, marteau,| deux cotés du véhicule. (au besoin)

moteurs de perceuse (petit et grand),
clé dynamométrique de 325 lb-pi, (440 N*M).

Figure A.
Vue arriére du cadre montrant 1’installation

adéquate

Tubes espaceurs fournis—

Plaque espacement fournig
@ (au besoin) \12

Boulon, rondelles,
écrou, (type) "

7

Cadre du véhicule

Tube esp. pas congu N\
pour reposer sur 1’aile /)E
inférieure du cadre.
Support d’attelage pas /
congu pour cadre a — | Support - Kigure B. °
brides. d’attelage e

Qté (1) Attelage Qté (8) Ecrou hex. 3/4” Gr. 5

Qté (4) Tube espaceur Qté (1) Barre de remorquage

Qté (2) Plaques d’espacement, (au besoin) Qté (1) Goupille de barre de remorquage avec cordon

Qté (8) Boulon hex. 3/4"-16 X 6” Gr. 8 Qté (1) Agrafe de goupille

@EEE

QOLEE

Qté (16) | Rondelle conique dentée %" gSaﬁ’Eétre produit Cequent Performance Products de

4.

Déterminer si la largeur et la hauteur du cadre du véhicule sont adéquates pour cet attelage. Mesurer la largeur et la hauteur a partir de 'intérieur des surfaces des
profilés en C du cadre du véhicule et les comparer a la largeur et hauteur totales a I'extérieur de l'attelage, en incluant les tubes espaceurs. Garder a l'esprit que les
plaques d'espacement d'attelage fournies peuvent étre retirées pour obtenir la largeur minimale.

Déterminer I'emplacement de 'attelage a l'intérieur du cadre avant de percer les trous. Ne pas oublier les dégagements nécessaires entre la barre de remorquage
installée et le véhicule, la remorque et le sol. Une fois trouvé I'emplacement adéquat de 1'attelage, disposer les trous sur I'extérieur du cadre, voir Figure A ci-
dessus. Veiller a faire correspondre I'espacement entre les trous du cadre & I'espacement entre les trous des supports d'attelage. A I'aide d'un poingon, marquer le
centre des trous du cadre pour les percer correctement.

Percer sur les marques a I'aide d'une méche de 1/4 po. Prenez ensuite une meéche de 1/2 po et finalement une meche de 25/32 po. Enlever les bavures autour des
trous percés. Comme illustré a la Figure B ci-dessus, insérer en place les boulons avec leurs rondelles a partir de I'extérieur du cadre. Installer les tubes espaceurs
sur les boulons comme illustré. Si des plaques d'espacement sont nécessaires, alors les installer sur les boulons contre les tubes. Tirer Iégérement sur tous les
boulons pour étre en mesure de soulever 'attelage en position, puis pousser les boulons dans les trous des supports d'attelage, comme illustré a la Figure B.
Installer les rondelles et les écrous sur les boulons puis serrer toutes les fixations selon les spécifications en soutenant 'attelage au niveau.

Serrer toute la visserie 3/4”-16 Grade 8 au couple de 325 1b-pi (440 N*M).




Bastidor dl hiul Instrucciones de instalacion Niimeros de partes
Super Titan 25K con perno 38208

Disefiado para bastidores estilo canal “C” de 34”-34 '5” aproximadamente.
Nota; este enganche es pesado y requiere mas de una persona, un dispositivo de
elevacion o ambos.

N T O e icacis . :
e r—( No supere el valor inferior entre la calificacion del fabricante del vehiculo de remolque of
° N
= o 5 gf Tipo de Peso maximo bruto Peso méximo de la
© D~ enganche del remolque horquilla

Barra de traccion con

El enganche se muestra en la posicion correcta apertyra superior o Carga de peso 25.000 Lb. (11340 Kg) 4000 Lb. (1814.4 Kg)

Montaje de bola

Equipo necesario:: inferior.
Kit de tornillos: 38208F Girar para bola de 2” Bastidor del vehiculo ubos espaciadores @
Brocas de taladro: 1/4”, 1/2”, 25/32”
Llaves: Llave y tubos de 1-1/8”. Igual en ambos lados
Otras herramientas: Cinta de medir, herramientas de trazado, del vehiculo. Placas espaciadoras

(segun sea
necesario)

perforadora central, martillo, motor de taladro grande y pequefio,
llave de torsion con capacidad de 325 pies-libras., (440 N*M)

Figura A.
Vista posterior del bastidor que muestra la
@ instalacion correcta

Placa espaciadora suministrada
(si es necesaria)

Pernos, arandelas, tuercas
suministradas, iguales

. 5
Tubos espaciadores <—4
suministrados 1

Bastidor del vehiculo

Tl
El tubo espaciador no esta )E

disefiado para descansar en el

reborde del bastidor inferior. /
El soporte del ex}ganche no estd Soporte del [ Figura B. 0
disefiado para sujetar el bastidor. e
enganche L

@ Cant. (1) Enganche @ Cant. (8) Tuerca hexagonal 3/4” Gr. 5

@ Cant. (4) Tubo espaciador @ Cant. (1) Barra de traccion

@ Cant. (2) Placas espaciadoras, (use segiin sea necesario) Cant. (1) Pasador de la barra de traccién con cordén

@ Cant. (8) Perno hexagonal, 3/4”-16 x 6” Gr. 8 @ Cant. (1) Gancho pasador

@ Cant. (16) Arandela coénica dentada 3/4” Otro enganche de Cequent Performance Products
1. Determine si la anchura y altura del bastidor del vehiculo son adecuadas para este enganche. Mida las superficies interiores de la anchura y

altura del bastidor del vehiculo del canal “C” y compare con el enganche exterior general con la anchura y altura de los tubos espaciadores.
Recuerde que las placas espaciadoras del enganche suministradas se pueden quitar para lograr la anchura minima.

2. Determine la ubicacion del enganche dentro del bastidor antes de perforar los orificios. Recuerde la barra de traccion instalada para revisar
las distancias del vehiculo, remolque y piso. Después de determinar que la ubicacion del enganche es adecuada ubique los tornillos en el
exterior del bastidor del vehiculo, ver Figura A. arriba. Con cuidado combine el espaciamiento de los orificios trazados en el bastidor con
las dimensiones entre los orificios en los soportes del enganche. Perfore los orificios en el bastidor del vehiculo de manera que se perforen
correctamente.

3. Perfore todos los lugares con una broca 1/4”. Luego proceda con una broca de 1/2” y luego finalmente con 25/32”. Retire cualquier exceso
gue quede alrededor de los orificios perforados. Como se muestra en la Figura B. arriba, inserte los pernos con arandelas desde el exterior
el bastidor en su lugar. Instale tubos espaciadores sobre los pernos, como se muestra. Si se necesitan placas espaciadoras instalelas en los
pernos contra los tubos. Hale todos los pernos hacia atras ligeramente de manera que pueda levantar el enganche a su posicion y luego
empuje los pernos hacia atrés a través de los orificios en los soportes del enganche como se muestra en la Figura B.

4. Instale arandelas y tuercas en los pernos y luego sosteniendo el enganche arriba apriete todos los tornillos segiin las siguientes
especificaciones.

Apriete todos los tornillos de 3/4 grado 8 con una llave de torsion a 325 Lb.-pies (440 N*M)

REESE TRAILER HITCHES HITCH MOUNTS


http://www.carid.com/trailer-hitches.html
www.carid.com/reese/

